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The method of tension test which appears on the band saw because of the unequal heating resulting 

from the woodcutting is the regarded in the article. The gradient of the temperature distribution along 

the saw width is represented as a grade dependences. The grade indicator of this dependences is defined 

according to the temperature in three positions (on the tooth edge in the middle and on the back posi-

tion). The dependency is received which allows to get the distribution along the saw width. The analy-

sis of the obtained dependency is given.    
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